
Decay chain a Decay chain b Interference Fraction [%]

K1(1400)
+
[
K∗(892)0π+

]
π− K∗(892)0ρ(770)0 5.09± 0.49± 0.56[

K∗(892)0ρ(770)0
]L=2

K∗(892)0ρ(770)0 −3.48± 0.36± 0.26
K1(1270)

+π− ρ(1450)0K∗(892)0 −2.17± 0.24± 0.37
K1(1400)

+
[
K∗(892)0π+

]
π− ρ(1450)0K∗(892)0 −1.78± 0.88± 0.63

ρ(1450)0K∗(892)0 K∗(892)0ρ(770)0 1.59± 0.69± 0.77[
K∗(892)0ρ(770)0

]L=2
ρ(1450)0K∗(892)0 −1.49± 0.29± 0.30[

K∗(892)0ρ(770)0
]L=2

K1(1400)
+
[
K∗(892)0π+

]
π− −1.36± 0.13± 0.12

K∗(892)0ρ(770)0 [K+π−]
L=0

[π+π−]
L=0

1.14± 0.13± 0.11

K1(1400)
+
[
K∗(892)0π+

]
π− [K+π−]

L=0
[π+π−]

L=0
1.03± 0.10± 0.10

K1(1270)
+π− K1(1400)

+
[
K∗(892)0π+

]
π− 0.82± 0.51± 0.79

ρ(1450)0K∗(892)0 [K+π−]
L=0

[π+π−]
L=0 −0.65± 0.11± 0.09

K1(1270)
+π− K∗(892)0ρ(770)0 0.65± 0.29± 0.33


